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it
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(A Hi 5 8 = e O B3 S S T Y

THEX Sy« TH - FERI - HH50 B PO B B G AT & i i E (A5
TEAE R (Fas B
(b b 5 i J=3)
= 1 31, 482, 819
AR AE B
= 1 31, 482, 819
SRR AE B
= 1 31, 482, 819
M AR RE A RHETY
=) 1 4,752,124 4,752,124
HEHLANI Fr—TF
=) 1 9, 900, 258 9, 900, 258
N7 7 AT U — b
=) 1 1,782, 046 1,782, 046
L3SW EEHM% (7B AC100V &
TR FEAk
=) 1 3, 069, 080 3, 069, 080
JE 1) R\ B A
=) 1 9, 900, 258 9, 900, 258
S R S HEHIUAE R BN
=) 1 1, 485, 038 1, 485, 038
AU H =3y NERILV—H
=) 1 594, 015 594, 015
Phas HL R E
= 1 31, 482, 819
EAE R
(At b 5 % i J=3)
= 1 346, 545
LT STl Ep
= 1 243, 583
HEMBEEERE L
= 1 243, 583
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(A Hi 5 8 = e O B3 S S T Y

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
SRR AR (B T A
=) 1 26, 879 26, 879
MR AN b r—F ff
=) 1 26, 869 26, 869
NG R 7 7 A T U — Vi
%&
=) 1 26, 879 26, 879
L 3 SWili
=) 1 26, 879 26, 879
JREL 1) R\ A R 4 1
=) 1 58, 777 58, 777
S R SHARINA R E
=) 1 65, 539 65, 539
A H =2y MgV — X TR
=) 1 11, 761 11, 761
T S g 1
= 1 102, 962
ik 1.
= 1 102, 962
ik (AR
= 1 102, 962
b A R
(At b 5 5 i J=3)
= 1 2, 600, 213
YAThAVF7) " V=vay
= 1 2, 600, 213
YAThAVF7) " V=vay
= 1 2, 600, 213
YAThAVF7) " V=vay
= 1 2, 600, 213
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(A Hi 5 8 = e O B3 S S T Y

THEX Sy« TH - FERI - HH50 PO B B GEL & i T (G E LM
B T HE
= 2,946, 758
B ST
= 274, 394
BT e ¢
= 18, 968
Htre m
= 18, 968
EROB(E MR G S AT —4E
D%
= 18, 968
HimEp R (FE L)
= 255, 426
Wi
= 3,221, 152
BTk X=giiv oy
= 1, 302, 874
G E
= 8, 457, 790
H il R
= 4,561, 049
P s R
= 3, 896, 741
R 5]
= 38,911, 162
— e
= 6, 000, 430
TSk
= 134, 000, 000
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(A Hi 5 8 = e O B3 S S T Y

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
THE B 2 %8
= 1 13, 400, 000
TG
= 1 147, 400, 000
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[T ) 1 Fe 5 i

THEX Sy« TH - FERI - HH50 B PO B B G AT G| i E (A5
TEAE R (Fas B
CERERT )1 5 7T )
= 1 4,682, 821
AR AE B
= 1 4, 682, 821
SRR AE B
= 1 4,682, 821
L3SW EEHM% (7B AC100V &
TR FEAk
=) 1 3, 069, 080 3, 069, 080
AT AT Ay N"—H
=) 1 693, 018 693, 018
MR T A N LEE B - BEh SR
=) 1 841, 521 841, 521
2o (R L ANSERE 7 7 | HE4R(N) - BB AT
F)
=) 1 79, 202 79, 202
Pias HLR R
= 1 4, 682, 821
TEAE R
CERERT )1 55 7T )
= 1 168, 223
MEARIEAE B
= 1 60, 311
HEMBEEERE L
= 1 60, 311
L 3 SWiki&
=) 1 49, 164 49, 164
AF 4T A N— B RE
=) 1 11, 147 11, 147
T S g 1
= 1 107,912
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[T ) 1 Fe 5 i

THEX Sy« TH - FERI - HH50 H PO B B G AT G| T (G E LM
ik 1.
= 1 107,912
ik (AR
= 1 107, 912
b A R
CERRT )1 55 7T )
= 1 342, 083
YATh V7)) V=vay
= 1 342, 083
YAThAVF7) " V=vay
= 1 342, 083
YAThAVF7) " V=vay
= 1 342, 083
B T HE
= 1 510, 306
BTl TE:
= 1 36, 630
MR R (L)
= 1 36, 630
Wi
= 1 546, 936
BTk X=giiv oy
= 1 191, 074
G E
= 1 1, 460, 287
Hl MR
= 1 607, 875
P s R
= 1 852, 412
-6 - ELARims  Abkizhh )y 80w &




[T ) 1 Fe 5 i

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
R 5]
= 1 2,198, 297
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[(BEOH X

THEX Sy« TH - FERI - HH50 B PO B B G AT & i i E (A5
TEAE R (Fas B
(BLHOHX)
= 1 12, 996, 056
AR AE B
= 1 12, 996, 056
AR AE B
= 1 12, 996, 056
MR T A N LEE P o EfA7E - B4V
=) 4 1,336, 534 5, 346, 136
L2SW E &R 2 A 7D
=) 3 157, 414 472, 242
AT AT Ay N—H
=) 6 277, 207 1, 663, 242
SPD A CEJRA
=) 4 79, 202 316, 808
SPD JE A JEGE FHEAE
=) 1 79, 202 79, 202
SPD LAN/H
=) 8 39, 601 316, 808
JEL ) G F
=) 1 990, 025 990, 025
I P Zﬁé}ﬁuu
=) 1 297, 007 297, 007
S R S HEZHIUAE R BAVRL R B - W e
R 2 & T
=) 3 940, 524 2,821,572
Ze PR (IEARLANSE R 7 > 7 ) | SR
=) 7 99, 002 693, 014
Phas HL R E
= 1 12, 996, 056
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(Bl OHX

THEX Sy« TH - FERI - HH50 MoK PO B B G AT G| i E (A5
TEAE R
(BLHOHX)
= 1 447, 455
MEARIEAE R
= 1 430, 288
HEMBEEERE L
= 1 430, 288
MERR T A N SEE R E 168
=) 3 49, 144 147, 432
MERR T A N SEE R E [A—fé& T 2 A B3 LA
=) 1 34, 393 34, 393
L 2 SWili
=) 3 26, 879 80, 637
AT 4T 3L R— F 1HH
=) 3 6, 552 19, 656
AT 4T A N—H R [A— & 5T 2 & 3 LARE
=) 3 4, 586 13,758
JE 1) JR G 7 R
=) 1 10, 543 10, 543
1 P A HaRat
=) 1 7,863 7,863
S R SHARINA R E
=) 3 23, 384 70, 152
ze i (ERRLANSEE 7 > ) | 16 H
AR
=) 3 7,906 23,718
ze i (BERRLANSEE 7 > 7 ) | [Rl—f& 7 2 &5 B DL
AR
=) 4 5,534 22,136
e
= 1 17, 167
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(Bl OHX

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
AEE T
= 1 17, 167
ZRFHE AR B
= 1 17,167
b A R
(BLHOHX)
= 1 687, 701
YATh V7)) V=vay
= 1 687, 701
YAThAVF7) " V=vay
= 1 687, 701
YAThAVF7) " V=vay
= 1 687, 701
B T HE
= 1 1,135, 156
BTl TE:
= 1 103, 952
MR R (L)
= 1 103, 952
Wi
= 1 1,239, 108
BTk X=giiv oy
= 1 539, 564
G E
= 1 3,716, 556
Hl MR
= 1 1, 349, 405
P s R
= 1 2,367, 151
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(Bl OHX

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
R 5]
= 1 5, 495, 228
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[(BE @

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| i E (A5
TEAE R (Fas B
(B35 @ M X)
= 1 4, 860, 032
AR AE B
= 1 4, 860, 032
AR AE B
= 1 4, 860, 032
MR T A N LEE P o EfA7E - B
=) 2 1,336, 534 2,673, 068
L2SW E &R 2 A 7D
=) 1 157, 414 157, 414
AT 4T A N—H
=) 2 277, 207 554, 414
SPD A CEJRA
=) 1 79, 202 79, 202
SPD LAN/H
=) 4 39, 601 158, 404
S R S HEHIUAE R BAVRL 5K B - W e
R & & T
=) 1 940, 524 940, 524
Ze PR (IEARLANSE 7 > 7 ) | SR
=) 3 99, 002 297, 006
Phas HL R E
= 1 4, 860, 032
TEAE R
(B35 @M X)
= 1 163, 912
LT STl Ep
= 1 163, 912
HEMBEEERE L
= 1 163, 912

- 12 - E s Abkei )7 &6 R
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(Bl @HX

THEX Sy« TH - FERI - HH50 B PO B B G AT G| i E (A5
MERR T A N SEE R E 168
=) 1 49, 144 49, 144
MERR T A N SEE R E [A— T 2 A B3 LA
=) 1 34, 393 34, 393
L 2 SWili
=) 1 26, 879 26, 879
AT 4T 3L N— F 150
=) 1 6, 552 6, 552
AT 4T AL N— R [A—fé& T 2 A B3 LA
=) 1 4, 586 4, 586
S R SHARINA R E
=) 1 23, 384 23, 384
ze i (ERRLANSEE 7 > ) | 16 H
AR E
=) 1 7,906 7,906
ze i (BERRLANSEE 7 > 7 ) | [Rl—f& T 2 &5 B DL
AR
=) 2 5,534 11, 068
b A R
(B35 @M X)
= 1 256, 664
YAThAVT) V=yay
= 1 256, 664
YAThAVT) V=yay
= 1 256, 664
YAThAVT) V=yay
= 1 256, 664
B L
= 1 420, 576
BTl TE:
= 1 38,611
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(Bl @HX

THEX Sy« TH - FERI - HH50 H PO B B G AT G| T (G E LM
HiE R (FE L)
= 1 38,611
Wi
= 1 459, 187
BTk X=giiv
= 1 199, 985
G E
= 1 , 388,016
Hl R
= 1 502, 933
P s R
= 1 885, 083
R 5]
= 1 , 047, 188
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[(BLE@HX

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| i E (A5
TEAE R (Fas B
(B35 HX)
= 1 6, 690, 588
AR AE B
= 1 6, 690, 588
AR AE B
= 1 6, 690, 588
MR T A N LEE P o EfA7E - B
=) 2 1,336, 534 2,673, 068
L2SW E &R 2 A 7D
=) 2 157, 414 314, 828
AT 4T A N—H
=) 4 277, 207 1,108, 828
SPD A CEJRA
=) 2 79, 202 158, 404
SPD LAN/H
=) 4 39, 601 158, 404
S R S HEHIUAE R BAVRL 5K B - W e
R & & T
=) 2 940, 524 1, 881, 048
Ze PR (IEARLANSE 7 > 7 ) | SR
=) 4 99, 002 396, 008
Phas HL R E
= 1 6, 690, 588
TEAE R
(B35 HX)
= 1 265, 137
LT STl Ep
= 1 247, 970
HEMBEEERE L
= 1 247, 970
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(Bl 1K

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
MEAL L AN LEERE
=) 2 49, 144 98, 288
L 2 SWili
=) 2 26, 879 53, 758
AT 4T 3L N— F 150
=) 2 6, 552 13, 104
AT 4T 3L N—H R [A—fé& T 2 A B3 LA
=) 2 4, 586 9,172
S R SHARINA R E
=) 2 23, 384 46, 768
el (ERRLANEEE 7 > 7 ) | 1 & H
AR E
=) 2 7,906 15, 812
ze i (ERRLANSEE 7 > 7 ) | [Rl—f& 7 2 &5 B DL
AR E
=) 2 5,534 11, 068
[fTan
= 1 17, 167
RImE T
= 1 17, 167
AR B
= 1 17, 167
b A R
(B35 HX)
= 1 431, 037
YAThAVT) V=yay
= 1 431, 037
YAThAVT) V=yay
= 1 431, 037
YAThAVT) V=Y ay
= 1 431, 037
- 16 - ELARims  Abkizhh )y 80w &
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(Bl 1K

THEX Sy« TH - FERI - HH50 H PO B B G AT G| T (G E LM
B T HE
= 1 696, 174
B ST
= 1 63, 361
HimEp R (FE L)
= 1 63, 361
Wi
= 1 759, 535
BTk X=giiv oy
= 1 330, 668
G E
= 1 2, 054, 302
Hl R
= 1 835, 581
P s R
= 1 1,218,721
R 5]
= 1 3, 144, 505
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(B @ X

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| i E (A5
TEAE R (Fas B
(B35 @HX)
= 1 8, 304, 328
AR AE B
= 1 8, 304, 328
AR AE B
= 1 8, 304, 328
MR T A N LEE P o EfA7E - B
=) 3 1,336, 534 4, 009, 602
L2SW E &R 2 A 7D
=) 2 157, 414 314, 828
AT 4T A N—H
=) 4 277, 207 1,108, 828
SPD A CEJRA
=) 2 79, 202 158, 404
SPD LAN/H
=) 6 39, 601 237, 606
S R S HEHIUAE R BAVRL 5K B - W e
R & & T
=) 2 940, 524 1, 881, 048
Ze PR (IEARLANSE 7 > 7 ) | SR
=) 6 99, 002 594, 012
Phas HL R E
= 1 8, 304, 328
TEAE R
(B35 @ HX)
= 1 310, 598
LT STl Ep
= 1 293, 431
HEMBEEERE L
= 1 293, 431
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(Bl @1 X

THEX Sy« TH - FERI - HH50 MoK PO B B G AT G| i E (A5
MERR T A N SEE R E 168
=) 2 49, 144 98, 288
MERR T A N SEE R E [A— T 2 A B3 LA
=) 1 34, 393 34, 393
L 2 SWili
=) 2 26, 879 53, 758
AT 4T 3L N— F 1HH
=) 2 6, 552 13,104
AT 4T AU N—H R [A— & 5T 2 & 3 PARE
=) 2 4, 586 9,172
S R SHARINA R E
=) 2 23, 384 46, 768
Ze il (ERRLANEEE 7 > 7 ) | 1 & H
AR E
=) 2 7,906 15, 812
ze i (BERRLANSEE 7 > 7 ) | [Rl—f& T 2 &5 B DL
AR
=) 4 5,534 22,136
e
= 1 17, 167
RImE T
= 1 17, 167
AR B
= 1 17, 167
b A R
(B35 @ HX)
= 1 472, 182
YAThAVT) V=yay
= 1 472, 182
YAThAVT) V=yay
= 1 472, 182
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(Bl @1 X

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
YATh V7)) V=vay
= 1 472, 182
B T HE
= 1 782, 780
BT e ¢
= 1 71, 281
HimEp R (FE L)
= 1 71, 281
Wi
= 1 854, 061
BTk X=giiv oy
= 1 372, 249
G E
= 1 2,433, 483
Hl R
= 1 920, 724
P s R
= 1 1,512,759
R 5]
= 1 3, 659, 793
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[(BEOHX

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| i E (A5
TEAE R (Fas B
(B35 OHX)
= 1 13,381, 176
AR AE B
= 1 13,381, 176
AR AE B
= 1 13,381, 176
MR T A N LEE P o EfA7E - B
=) 4 1,336, 534 5, 346, 136
L2SW E &R 2 A 7D
=) 4 157, 414 629, 656
AT AT Ay N—H
=) 8 277, 207 2,217, 656
SPD A CEJRA
=) 4 79, 202 316, 808
SPD LAN/H
=) 8 39, 601 316, 808
S R S HEHIUAE R BAVRL 5K B - W e
R & & T
=) 4 940, 524 3, 762, 096
Ze PR (IEARLANSE 7 > 7 ) | SR
=) 8 99, 002 792,016
Phas HL R E
= 1 13,381, 176
TEAE R
(BL5OHX)
= 1 513,107
LT STl Ep
= 1 495, 940
HEMBEEERE L
= 1 495, 940
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(Bl OHX

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
MEAL L AN LEERE
=) 4 49, 144 196, 576
L 2 SWili
=) 4 26, 879 107, 516
AT 4T 3L N— F 150
=) 4 6, 552 26, 208
AT 4T 3L N—H R [A—fé& T 2 A B3 LA
=) 4 4, 586 18, 344
S R SHARINA R E
=) 4 23, 384 93, 536
el (ERRLANEEE 7 > 7 ) | 1 & H
AR E
=) 4 7,906 31, 624
ze i (ERRLANSEE 7 > 7 ) | [Rl—f& 7 2 &5 B DL
AR E
=) 4 5,534 22,136
[fTan
= 1 17, 167
RImE T
= 1 17, 167
AR B
= 1 17, 167
b A R
(BL5OHX)
= 1 862, 074
YAThAVT) V=yay
= 1 862, 074
YAThAVT) V=yay
= 1 862, 074
YAThAVT) V=Y ay
= 1 862, 074
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(Bl OHX

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| T (G E LM
B T HE
= 1 1,375, 181
B ST
= 1 126, 723
HimEp R (FE L)
= 1 126, 723
Wi
= 1 1,501, 904
BTk X=giiv oy
= 1 654, 407
G E
= 1 4,109, 596
Hl R
= 1 1,672,153
P s R
= 1 2,437, 443
R 5]
= 1 6, 265, 907
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[(BEOHX

HOOflf =%

THEX Sy« TH - FERI - HH50 B PO B B G AT & G| i E (A5
TEAE R (Fas B
(BL5@HX)
= 1 6, 690, 588
AR AE B
= 1 6, 690, 588
AR AE B
= 1 6, 690, 588
MR T A N LEE P o EfA7E - B
=) 2 1,336, 534 2,673, 068
L2SW E &R 2 A 7D
=) 2 157, 414 314, 828
AT 4T A N—H
=) 4 277, 207 1,108, 828
SPD A CEJRA
=) 2 79, 202 158, 404
SPD LAN/H
=) 4 39, 601 158, 404
S R S HEHIUAE R BAVRL 5K B - W e
R & & T
=) 2 940, 524 1, 881, 048
Ze PR (IEARLANSE 7 > 7 ) | SR
=) 4 99, 002 396, 008
Phas HL R E
= 1 6, 690, 588
TEAE R
(BlL5@HX)
= 1 247, 970
LT STl Ep
= 1 247, 970
HEMBEEERE L
= 1 247, 970
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(Bl O@HX

THEX Sy« TH - FERI - HH50 B PO B B G AT G| T (G E LM
MEAL L AN LEERE
=) 2 49, 144 98, 288
L 2 SWili
=) 2 26, 879 53, 758
AT 4T 3L N— F 1HH
=) 2 6, 552 13, 104
AT 4T 3L N—H R [A—fé& T 2 A B3 LA
=) 2 4, 586 9,172
S R SHARINA R E
=) 2 23, 384 46, 768
el (ERRLANEEE 7 > 7 ) | 1 & H
AR E
=) 2 7,906 15, 812
ze i (ERRLANSEE 7 > 7 ) | [Rl—f& 7 2 &5 B DL
AR E
=) 2 5,534 11, 068
b A R
(BlL5@HX)
= 1 431, 037
YAThAVT) V=yay
= 1 431, 037
YAThAVT) V=yay
= 1 431, 037
YAThAVT) V=Y ay
= 1 431, 037
B L
= 1 679, 007
BTl TE:
= 1 62, 371
MR R (B L)
= 1 62, 371
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(Bl O@HX

THEX Sy« TH - FERI - HH50 H PO B B G AT G| T (G E LM
Wi
= 1 741, 378
BTk X=giiv
= 1 322, 748
G E
= 1 2, 054, 302
Hl R
= 1 835, 581
Pear s R
= 1 1,218,721
R 5]
= 1 3, 118, 428
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